8.1 Identifying|Quadratid Functions
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Tell whether the equation is a quadratic function. Explain.
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Tell whether each function is quadratic. Explain.

Step 1: Find the first difference in x-value. (Must be the same!) v
How: Take the 2" x-value minus the 15 one.

Step 2: Find the second difference in y-value. (Must be the same!)
How: First find the 15t difference, then find the difference again.
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Tell whether each function is quadratic. Explain.
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Graph of Quadratic Functions: Parabola U o
( u-Shape ) /\

Standard Form: y = ax’ +bx +c
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Order each group of Quadratic Functions from WIDEST to
NARROWEST i
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Find the coordinates of the vertex. Determine if the
function has a maximum or minimum and find its value.
Find domain, and range (set and interval notation), 4,5

Vestex: (0, -2) Verfex: (5,15)
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Range 3Ylys [5]
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Graph each quadratic function. Identify the vertex, minimum or
maximum value. Find the Domain & Range (set and interval
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1 , &=3, b=0 G=-2  4) f(x)=-2x"+2
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